022 =R TEHMBEAZTURFTERESHHT

1 THEE

HESHEBE.

20:2= 24+3= 33:3= 56:7=
60-3= 88+4= 93=3= 120+4=

2. THE
R NS

27T 3aTI TG

6T 6 Z & arz 3 4

3. 1HEE
AT E TS, FRE.
(1) 3963 (2) 301-7

4. THHEB
THE T H &,
(1) 750:2+3 (2) 972+ (3x3)

(3) 600—600+3 (4)7480+4%3

T T T

a3 2 0o

5. 7T B .
EERBHBIER, ) ( ) =EEH ( ) /N,

6. JHZ .
() B KReEL?

3% ( ) <22 ) x5<43 8x ( ) <60

( ) x7<60 6% ( ) <49 ( ) x9<52

7. BT .
hifER ( ) iBF.

8. HZ M -
769--SHI B L A2 ( ), ERER ( ) PEE

9. AR

TrEmzs, AEgmE-, g,

b

¢ o o

\:..f-""'

i



